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Question Number : 1 Question Id : 3666943201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

If the domain of the funetion

f(x)=log, («L]:“P +11x+ 6) +sin! (4x+3)+ cos ™! [

36| a + B is equal to

Options :

3666949971.

3666949972.

63

3666949973.

3666949974.

10x+6

Online
Mandatory
20

20

80

Yes

0

1
366694178
Yes

null

Ld

) is (a, f3], then



Question Number : 1 Question Id : 3666943201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe Ba f(x) =log, (.4‘1:2 +11x —;—6)+ sin”" (4x+3)+cos ' ( 1[}‘]:_ ﬁ] &1 Uid
\ I\. E
(, Bl & 36|+ B RRT

Options :

3666949971.

3666949972.

3666949973, 99

3666949974.

Question Number : 2 Question Id : 3666943202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of real roots of the equation Jc|x| — Bilx + 2| +6=0,i1s
Options :
3666949975, °

3666949976, °

3666949977.



3666949978,

Question Number : 2 Question Id : 3666943202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HIERT x|x| - 5|x + 2|+ 6= 0 T aRa Tl B TEI &
Options:
3666949975, ©
3666949976, °
3666949977, °
3666949978,

Question Number : 3 Question Id : 3666943203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

il

:2eC, Re(z)= 3} is equal to the interval

ek {Re [_]

2-3z+5z2

(a, B]. then 24( S —a) is equal to

Options :



3666949979.

3666949980. h

3666949981, -0

3666949982.

Question Number : 3 Question Id : 3666943203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Z—Z+zZ

qﬁW{RL[
(a, ) P EURE, A Qd[ﬁ—a}ﬁrﬂq%:

_J:ze C,Re(z) =3} 3idd
2-3z+bz2

Options :

3666949979.

3666949980, U

36

3666949981.

3666949982.

Question Number : 4 Question Id : 3666943204 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the determinant of a square matrix A of order m be m—n, where m and n
satisfy 4m+n=22 and 1Tm+4n=93. If (Iﬂ’.(n. adj[adj[nrtA])] = 3%5%6°,

then a +6+¢ 1s equal to

Options :
3666949983, o4
3666949984, O
3666949985, 1
109
3666949986.

Question Number : 4 Question Id : 3666943204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHAT m DI & b d7 34E A B GROEG m —n ©, 81 m a4l n FHHION
Am+n=22TY 17Tm+4n =93 S ¥ H 8|
UG det(n adj(adj(mA)))=35"6° & @ a+b+cRERE

Options :

3666949983, o1

3666949984, 0

3666949985.



101

109
3666949986.

Question Number : 5 Question Id : 3666943205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let the system of linear equations
—x+2y-9z=7

—-x+3y+7z=9

-2x+y+5Hz=8
—Ax+y+13z=4

has a unique solution x =@, y=/f, z=y. Then the distance of the point
(e, B, ) from the plane 2x —-2y+z=41is

Options :
3666949987, !

9
3666949988.

11
3666949989.

13
3666949990.

Question Number : 5 Question Id : 3666943205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
HH1 @S wHis Fby

—x+2y—-9z=7
—x+3y+72=9
—2x+y+Hz=8
—ax+y+13z=4

& Mfgdld 80 x=a,y=f.z=y 8 @ g (a p.y) & YHdd
2x—2y+z=A gl &

Options :

=1

3666949987.

3666949988.

36669499809. i

13
3666949990.

Question Number : 6 Question Id : 3666943206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The total number of three-digit numbers, divisible by 3, which can be formed
using the digits 1, 3, 5, 8, if repetition of digits 1s allowed, 1s

Options :
3666949991, °

20
3666949992,



3666949993.

22
3666949994,

Question Number : 6 Question Id : 3666943206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe siep! &1 gAIghy &1 oA €, ot ol 1, 3, 5, 8 & YA 4, 3 F fqursy -l
| §1S ol G- aTd! Gl 31 $ol T&1 6

Options :

3666949991, °

3666949992.
3666949993.

3666949994,

Question Number : 7 Question Id : 3666943207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
a0 28,
Let (ﬂ.+hx+cx“) = Zpix“ , a,beeN. If p =20 and p, =210, then

i=0
E{r:r. +b+c) is equal to



Options :
3666949995, ©

3666949996. 8

3666949997, 12

3666949998.

Question Number : 7 Question Id : 3666943207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2110 20 y .
HIHT [a+bx +r.1r“’] = Zpr-x’ b, f.'EN%r| afe p =20 Al p, =210 % al
i=0
2(a+b+c) WRE
Options:

3666949995, ©

3666949996. B

12

3666949997.

3666949998.

Question Number : 8 Question Id : 3666943208 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let A; and A; be two arithmetic means and Gy, Gy, G5 be three geometric
means of two distinct positive numbers. Then Gil +(’L17é1 +G§ + Gf(}'lif is equal
to

Options :

2( A, + A)G.G.
3666949999. U +2k) Gl

O W T AL
36669410000. (4 +4,)Gi G

cp
A+ AV GG
36669410001, (41 +42) GiGs

2(A; + Ay G{Gy
36669410002. -

Question Number : 8 Question Id : 3666943208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
a1 & i oFTEs el & 3 Uik W A, aul A, SR oA iR A
Gy, Gy, G3 B1 7 G + G5 + G5 +G2GE WM &:

Options:

St A+ AN G
3666949999. 2] (a0

A AN
36669410000. (Ar+45) GGy



2
A+ AV GG
36669410001, (4 +4) GGy

2(A; + A))G{Gy
36669410002. -

Question Number : 9 Question Id : 3666943209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let [x] denote the greatest integer function and
f(x} = max[l +x—'r[x]~ 2+x, X +2[x]}, 0<x<2. Let m be the number of

points in [(J, 2], where [ is not continuous and n be the number of points in

(0, 2), where f is not differentiable. Then {m 41 ]“J +2 is equal to

Options :
36669410003, 2
3
36669410004.
36669410005, °
11
36669410006.

Question Number : 9 Question Id : 3666943209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HHT [x] WETH QUi We § AT f(x) = max{1+x+[x], 2+x, x+2[x]},
0 <x <2 19 [0, 2] # 3 f&g3fl, S8l £ Hdd 1 8, B &M m B, AU I
ﬁﬁ@ﬁ, Glfff f&ﬁﬁ:ﬁﬂ:lﬁﬁ'%,?ﬁmu%[ al [m+n]2 1+ 2 W%:

Options :

| 8]

36669410003.

3
36669410004.

36669410005.

36669410006. 1

Question Number : 10 Question Id : 3666943210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 a+1)
If —————dx= —lngﬁ( , a, >0, then a* - g
J“[5+2x—2x2)(1+e¢“‘4-‘}) a “\ B J

18 equal to

Options :

36669410007.

36669410008.

36669410009, ¥

36669410010.



Question Number : 10 Question Id : 3666943210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: \
qﬁ{]ﬂ ul — d—"":llﬁgi,[a_ﬂjra, B>0 2 ot - g
[5+2x—2fjh+e“‘xj a B
W &
Options:
36669410007. 21
36669410008, °
36669410009, 19
21
36669410010.

Question Number : 11 Question Id : 3666943211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let x = x(y) be the solution of the differential equation
2(y+2)log, (y+2)dx +(x+4 —2log, [_}'+2])d}' =0, y>-1

with x(ﬁ'l —2) =1. Then x(eﬂ —2) is equal to

Options :



36669410011.

10
36669410012, °

TN

36669410013.

36669410014, 9

Question Number : 11 Question Id : 3666943211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HHET Hddhdl THIHII

2[}?+2}1{1;—;{,[_y+2)dx+(x+4—210;;‘,(_}42))(@:[]] e x(e'i—z]:l

B8 x=x(y) 81 A x(.eﬂ—E) R &

Options :

36669410011.

10
36669410012,

T-Y NN

36669410013.

36669410014.



Question Number : 12 Question Id : 3666943212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If (a, B) is the orthocenter of the triangle ABC with vertices

A(3,-17), B(-1,2) and C(4, 5), then 92 -6+ 60 is equal to

Options :

]
o

36669410015.

36669410016, U

36669410017.

36669410018, 10

Question Number : 12 Question Id : 3666943212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gz 9t A(3,-7), B(—1,2) T C(4, 5) & Y ABC 1 de5% (, B) B,
Al 9o — 64+ 60 T &:

Options :

25

36669410015.



30

36669410016.
36669410017, °°
36669410018, 10

Question Number : 13 Question Id : 3666943213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of common tangents, to the circles x° +_v'“}' —18x—15y+131=0

and x2 +y* —6x—6y—T=0, is

Options :

36669410019.

| Su]

36669410020.

36669410021, °

36669410022.

Question Number : 13 Question Id : 3666943213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gl x+y?-18x-15y+131=0 T4 x%2+y*-6x-6y—-T=0 & Iy
W] @i B e g

Options :

36669410019.

| 8]

36669410020.

36669410021,

36669410022.

Question Number : 14 Question Id : 3666943214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let the foot of perpendicular of the point }’(3* —2, —9) on the plane passing
through the points (-1, -2, -3), (9, 3, 4), (9, -2, 1) be Q(a, B, }—’]_ Then the

distance of & from the origin is

Options :

36669410023, VY99

36669410024, V55

36669410025, Y29

42
36669410026.



Question Number : 14 Question Id : 3666943214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oM fdg P(3, -2, —9) @1 fagsil 1, -2,-3), (9, 3, 4), (9, -2, 1) ¥ € IH ardl
UHdd WA B UG Q(a., B, 7) %|E’l’m§rﬁ§®” Q I E:

Options :

36669410023, Y59

36669410024, V58

36669410025, Y29
12

36669410026.

Question Number : 15 Question Id : 3666943215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S be the set of all values of A, for which the shortest distance between

the lines e :'v_ti=z+6;1nd R O - is 13. Then 8 Z if 18
0 4 1 3 el Py
equal to
Options :

36669410027, 202



36669410028, 04

36669410029, 206

308
36669410030.

Question Number : 15 Question Id : 3666943215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT 2 % i A R R el 1’;’1 _¥—3_=z+6o

4 1
x;* _%_z;ﬁ ST AR 138, PO S R A 8| Y 4| R B
: =~ AeS
Options :

36669410027, 202

36669410028, 04

36669410029, 206

308
36669410030.

Question Number : 16 Question Id : 3666943216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Let S be the set of all (4, &) for which the vectors A—j+k, i +2]+uk

and 31 —4}—%5!’% where A— =5, are coplanar, then Z Bﬂ().,z + ,uz) 15
(4, u)esS

equal to
Options :

36669410031, 2130

9
36669410032. 4214

36669410033.

S P
36669410034, 10

Question Number : 16 Question Id : 3666943216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A @l (A, ) oA fau wfw Ai—j+k,  i+2j+uk
qul 3i-4)+5k, & A-u=5 B Ugddld § & =g S §
80(A% + i) IR R

(4, u)es
Options:
36669410031, 2130
2210

36669410032.



36669410033, 2290

\.J Lor ]
36669410034, 210

Question Number : 17 Question Id : 3666943217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let ABCD be a quadrilateral. If E and F are the mid points of the diagonals
AC and BD respectively and (AB—B{“]+[AD— D(’f) ~k FE , then kis equal to

Options :

36669410035.

36669410036, 2

]

36669410037.

36669410038.

Question Number : 17 Question Id : 3666943217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHET ABCD U Iqd g1 afg fawull Ac 9u1 BD & A fdg 0 £ qul F €, SR
(AB-BC)+(AD-DC)=k FE, @ k SRR &:

Options :



36669410035.

36669410036, 2

| S]

36669410037.

36669410038.

Question Number : 18 Question Id : 3666943218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 6 white and 4 black balls. A die 1s rolled once and the number
of balls equal to the number obtained on the die are drawn from the bag at
random. The probability that all the balls drawn are white is

Options :
1
36669410039,
11
36669410040, OV
9
36669410041, 0
1
4

36669410042.



Question Number : 18 Question Id : 3666943218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UF U W 6 e duT 4 Bl e ¢l TP 9T U SR Hepl ofldl & adl 3d § 3 U™
IR U &1 & sRI6R Tic aressdl Fare ol 8 | et 15 94 gl & 9 g

CARYIDET NS
Options :
1
36669410039, °
11
36669410040, OV
9
36669410041, 2
1
4
36669410042.

Question Number : 19 Question Id : 3666943219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean and standard deviation of 10 observations are 20 and 8 respectively.
Later on, it was observed that one observation was recorded as 50 instead of

40. Then the correct variance is
Options :

36669410043, 1



36669410044. H

36669410045. 1

14
36669410046.

Question Number : 19 Question Id : 3666943219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

10 U&UT & HItd quT AFS fdaaa HH: 20 9T 8 €1 915 | g8 Ukl T fb Ush
TI&[U] 1 40 & R U 50 foran ar 41| o ¥al TSR0 g

Options :

36669410043, 1

36669410044. H

36669410045. 1

14
36669410046.

Question Number : 20 Question Id : 3666943220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Negation of pA(ga~(pag)) is

Options :

~(pwv
36669410047. (pva)

36669410048, © 9

(’”[pﬂq])nq
36669410049.

36669410050. (~(prg))vp

Question Number : 20 Question Id : 3666943220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

p;\[f,m ~(p~q)) CARELUE RS

Options :

~(pv
36669410047. (pva)

)V
36669410048. Fa

(’”[pnr;])hq
36669410049.

~(pag))vp
36669410050. { (7 ”] 4



Mathematics Section B

Section Id : 366694179
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694179
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 3666943221 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let A={1,2,3,4} and R be a relation on the set AxA defined by

R= {[(a b), (c, d]) -20+3b=4c+ ﬁd} . Then the number of elements in R is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 21 Question Id : 3666943221 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HAT A={1,2,3, 4} 80U Ax A WUS Hay R A5 yHR uRviftd 8
R:{{(u, b), (e, d}]:2u+3{‘}:4c+5d}.

dl R ¥ 3gudi ! B &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943222 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A person forgets his 4-digit ATM pin code. But he remembers that in the code
all the digits are different, the greatest digit is 7 and the sum of the first two
digits is equal to the sum of the last two digits. Then the maximum number of
trials necessary to obtain the correct code 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 22 Question Id : 3666943222 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Afad (U1 4-3id] &1 ATM U BT Hd Sl 8 1 TR I TG ¢ b dls & IR
3 i ¢, G 91 3feh 7 § U1 WYH < 3{eT &1 1T HfH 2 il & I & IR
¢ Tel HIS UId 6 F o smawass sifisdn yardl & 981 ¢
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943223 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of elements in the set {neIN:10<n <100 and 3" -3 is a
multiple of T} is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943223 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



&l (ne IN: 10 <n<100 T4 3" — 3, 7 $1 U 70 g} H 3fq0d B TS &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943224 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

If the sum of the series

(1 1 1 1 o
+ :+—_1J+...

is —, where & and £ are co-prime, then @ + 38 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943224 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



afe Soft

I T R S R .

1 1 1 1 Iy
————t——a ———+— |+...
gf of g o922 g 4 3"‘J

Cakin % g, el o TUT g U & A ¢+ 38 WRE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943225 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the triangles with vertices A(2,1), B(0,0) and C(¢,4),t e [{], 4]
If the maximum and the minimum perimeters of such triangles are obtained
at t =a and t = f respectively, then 6a +214 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943225 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
st A(2,1), B(0,0) @ C(t, 4),t [0, 4] F Pyl &1 fdur @iforws afe W&
ﬁgﬁﬁﬁwammmm: t=a T4 t=p W U 81d 8, al
6a +218 W &:

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943226 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f(x)= If 0 and f(1 —
[}[[3+4x“]ﬁ||~!’_ f(0)= LY (|

a, >0, then a® -i—ﬂ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943226 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



: dx
A £ (x) = ;
=) J(3+4x"*)\/4—3x2

2 .
E%mﬁf{ﬂ}znaaﬂ

x| <

f{l_] - !iflﬂ tan [%J a, f>0 %’,Eﬁ r1r2+‘5‘:3 W%‘:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the area bounded by the curve 2_}12 =3x, lines x+ y=23, ¥y=0 and outside
the circle {x—ﬁ}g +y° =2 is A, then 4(mr+4A) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943227 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



R G (x-3)°+y2 =2 F AR, T 2y =3¢ AU @A x+y=3, y=0
URE A7 PTATHAA G, T 4(7+4A) R E:

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Let an ellipse with centre (1, 0) and latus rectum of length % have its major

axis along x-axis. If its minor axis subtends an angle 60° at the foci, then the
square of the sum of the lengths of its minor and major axes is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943228 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A1 U grdgd, ORIt &% (1, 0) W § aY1 NG oiidl Bt ddTg % g, ®1 ad 318,

x-3{& & G T UG TUBT Y 348 FHB! ANH U 60° BT HIV &1 &, ol 30D
Y quT &Y Sfefl B darsal & g1 &1 aF aRIeR 6
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943229 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the plane P contain the line 2x+ y—2-3=0=5x-3y+42z+9 and be

X2 A=y g7

2 —4 5

parallel to the line . Then the distance of the point

A(8, -1, —19) from the plane P measured parallel to the line 2 = - = T

1s equal to
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943229 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



- 9 o — ¥ E_H = .
|11 e P, X6l == = 2 f =21 % hicR § a1 390 X1
—¥ ]

2x+y-2z-3=0=5x-3y+4z+9 R g A fdg

g ,
A{B,—TJ—19]aﬁHﬂHﬂP@fT@T%:y4J:21: & qHicR A 8 gl

T &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943230 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

If the line x = y = z intersects the line

xsinA+ysinB+zsinC-18=0=xs8n2A+ ysin2B+zsin2C -9,

where A, B, C are the angles of a triangle ABC, then 80 (Sin% Sing sln g)

il ] ]

is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943230 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

afe TElx = y =2 Wl

xsmA+ysmB+zsinC-18=0=xsmn2A + ysin2B+zsmn2C-9

P

@I dIedl 8, 981 A, B, C U AT ABC &1 HIU &, Tl 80 (sm% Hing sinE)

2

W%’:
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10
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Section Id : 366694180
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Section type: Online
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694180

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 31 Question Id : 3666943231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a linear Simple Harmonic Motion (SHM)

(A) Restoring force is directly proportional to the displacement.
(B) The acceleration and displacement are opposite in direction.
(C) The velocity is maximum at mean position.

(D) The acceleration is minimum at extreme points.
Choose the correct answer from the options given below:
Options :

36669410061, ) (B) and (C) Only

36669410062, (©)and (D) only

36669410063, (4 (C) and (D) only

(A). (B) and (D) only
36669410064.

Question Number : 31 Question Id : 3666943231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U YW ¥ 3M1dd fd |

(A) UMY ga, [ARITH & SFHHHUTT gl 8|
(B) @V U4 faymg fudia fasmafi # gid 81

(€ e Rl # 971 Haifds g 2

(D) =xH fdgafi UR @Rl <gAaH gidl g

i fow mu fasedt # 9@ wel S| I+

Options :

ddl (A), (B) T (C)
36669410061.

&dd (C) Td (D)
36669410062.

&ad (A), (C) Td (D
36669410063. (0 €CH R D

&ad (A), (B) Td (D
36669410064. (A ®) %3 (D)

Question Number : 32 Question Id : 3666943232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A flask contains Hydrogen and Argon in the ratio 2:1 by mass. The temperature of the

mixture is 30°C. The ratio of average kinetic energy per molecule of the two gases

(K argon/K hydrogen) is :

(Given: Atomic Weight of Ar = 39.9)
Options:

392.9

[ S]

36669410065.



36669410066.

36669410067, Y

2

36669410068.

Question Number : 32 Question Id : 3666943232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

US SR H gEgie Ud A 19 4l €, o Som &1 Siurd 2:1 81 yur &1 arawE
30°C g1 A1 11 o Wfl 0] 1 S et Sl 1 SIUNd (Kaiia/K srseom) 8 -

(3 &: Ar 1 RHIY 4R = 39.9)

Options :
39. 9
36669410065. 2
36669410066,
36669410067, Y
9
36669410068,

Question Number : 33 Question Id : 3666943233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A thermodynamic system is taken through cyclic process. The total work done in the
process 1s :

400 p----

:

(Pa) 100 }---- E

o k—-————

Options :

36669410069, Z€r°

36669410070, 200

36669410071, 007

36669410072, 007

Question Number : 33 Question Id : 3666943233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U IWNS HHr &1 deh1g Uhd J TERT 11 & | UshH H 361 a1 $a & &

D
400 fene
e
(Pa) 100 }---- E
Ci l
o
9 4
g
Vim")
Options :
36669410069, &1
36669410070, 200
36669410071, 007
36669410072, 009

Question Number : 34 Question Id : 3666943234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A wire of length L’ and radius ‘v’ is clamped rigidly at one end. When the other end of the
wire 18 pulled by a force f, its length increases by ‘I’ Another wire of same material of length
‘2L’ and radius ‘2r’is pulled by a force ‘2f" Then the increase in its length will be :

Options :

36669410073, !

36669410074, 2!



36669410075, 4!

I/2
36669410076.

Question Number : 34 Question Id : 3666943234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

'L TaTs U4 v T aTel $15 dR St U RR A Egdl Ydd ot §311 8| Ofd R &I gal
R 99 7 gR1 EiE1 9§, A 391 @ 8 0 df 8 ol 81 9HF uer & 2L
TS U4 ‘2 o aren R S UR 9 27 9o GRI Widl 91l g1 3fd s | glg g

Options :

36669410073, !

36669410074, 2!

36669410075, 4!

36669410076.

Question Number : 35 Question Id : 3666943235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body is released from a height equal to the radius (R) of the earth. The velocity of the body
when it strikes the surface of the earth will be :

(Given g = acceleration due to gravity on the earth.)



Options :

36669410077.

36669410078, ¥ 1&F

gR
36669410079, ' 2

JeR
36669410080.

Question Number : 35 Question Id : 3666943235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 B (R) & IR FA16 9 U 0SSl ol g1 gt & dd 4 eavid g9y fuog
&1 37 gIT: (f3T1 § g = Jodl R iy @)

Options :

36669410077.

36669410078, V&8

36669410079.

36669410080.



Question Number : 36 Question Id : 3666943236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Two identical particles each of mass ‘m’ go round a cirele of radius a under the action of their
mutual gravitational attraction. The angular speed of each particle will be :

Options :

Gm

]
Q|

36669410081.

Gm
36669410082, '

-

g |5

i

36669410083.

{zm
36669410084, ' “

Question Number : 36 Question Id : 3666943236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'm GOHH dTd 31 UHHHA &Y, o el & gd TR URWRS [Sdd HHU & 3fild
YA § | YS S0 &1 HI0ig I g :

Options :

Gm
2"
36669410081.




(rm
36669410082, V4a’

36669410083.

Gm

36669410084. ' ¢

Question Number : 37 Question Id : 3666943237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vector in x — ¥ plane makes an angle of 30° with y-axis. The magnitude of y-component of

vector is 23 . The magnitude of x -component of the vector will be :

Options :
36669410085. 2
36669410086. 3
I
36669410087, 3

36669410088. °

Question Number : 37 Question Id : 3666943237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

x—y T4 H, TP AW y-31& & Ty 30° $T B0 ST 81 Gi3W & y-9TPH BT GREM0
23 81 i & x -4TH 1 U g

Options:

36669410085. 2

36669410086.

£~

36669410087.

36669410088. °

Question Number : 38 Question Id : 3666943238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The position of a particle related to time is given by x = (ﬁ!g —df + ﬁ] nt . The magnitude of

velocity of the particle at ¢ = 25 will be :

Options :

36669410089, 14 ms”

36669410090, 16 ms”

10 ms™?

36669410091.

06 ms!

36669410092.



Question Number : 38 Question Id : 3666943238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepalt U1 bt Ty & iy R x:(ﬁfz—-lhﬁ)m BRI S 75 §1 O =25 W, U1 & 91 P
uﬁuﬂnéhm

Options :

36669410089, 14 ms”

36669410090, 16 ms"

10 ms™?

36669410091.

06 ms!

36669410092.

Question Number : 39 Question Id : 3666943239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

b _e

The speed of a wave produced in water is given by v=2g"p". Where 4, g and p are

wavelength of wave, acceleration due to gravity and density of water respectively. The
values of @, b and ¢ respectively, are :

Options :

1, 1,0
36669410093.



B | =
o
o | =

36669410094,

[ ]
ba | =
=

36669410095.

36669410096, = Y

Question Number : 39 Question Id : 3666943239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ut § I0F o P AT =g’ GRI G T8 §, W6l 4, ¢ UG p P a7 & avied,

TS @R Ud U1 ST O 8| 0, b Td ¢ 1 HF HH: §:

Options :

I, 1.0
36669410093,

Lo X

2 3
36669410094, = 2
36669410095, 2 2
36669410096, = Y

Question Number : 40 Question Id : 3666943240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The position vector of a particle related to time ¢ is given by

F=(10t +1565] + Tk)m

The direction of net force experienced by the particle is :

Options:

36669410097. Positive x - axis

36669410098. Positive y - axis

Positive z - axis

36669410099.

In x - vy plane

36669410100.

Question Number : 40 Question Id : 3666943240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fereft @01 1 g & Oy fRUfY wfew Fgad §
F=(10ti +156t% + Th)m,
HU R AR gRomd & & 32 g
Options:
36669410097, i X Sl

36669410008, NP y- 4



YATHE z- HE
36669410099.

x—avﬂﬁlﬂ
36669410100.

Question Number : 41 Question Id : 3666943241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The electric field due to a short electric dipole at a large distance (r) from center of dipole on
the equatorial plane varies with distance as :

Options:

36669410101. *

36669410102, '

36669410103.

36669410104.

Question Number : 41 Question Id : 3666943241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forelt fagga faya & R, ymenadf aa &, fZyd & &= 4 950 R, gl (4 W, fagga &3
I & 91y Fgad oRafda gm

Options:

36669410101. "

36669410102.

36669410103.

36669410104.

Question Number : 42 Question Id : 3666943242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The height of transmitting antenna is 180 m and the height of the receiving antenna is
245 m. The maximum distance between them for satisfactory communication in line of sight

will be ;

(given R = 6400 km)
Options:
36669410105, ‘8km

36669410106, 0 Em

36669410107, 20 km



36669410108, 04 k™

Question Number : 42 Question Id : 3666943242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Uew @ 9O 180 m W W e @ $En
245 m g Hdived =BG 90 & T 39 dd &1 siftiban gl gri: (g R =
6400 kmy):

Options:

36669410105, *8km

36669410106, 0 km

36669410107, 0 km

36669410108, 01 E™

Question Number : 43 Question Id : 3666943243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the given circuit, the current (I) through the battery will be

10 Q D,

10

Options:

._.
] |
p

366694101009.

36669410110, 274

36669410111.

36669410112.

Question Number : 43 Question Id : 3666943243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



feu T ufgy o, 91 arelt @mar § vaifed URT (1) 1 9 g1

10 Q) D,

10 Q2

Options :

366694101009.

36669410110, 2

36669410111,

2A
36669410112.

Question Number : 44 Question Id : 3666943244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The half-life of a radioactive nucleus is 5 years. The fraction of the original sample that
would decay in 15 vears is:

Options :
36669410113, 4

36669410114.



oo -

e | 2

36669410115.

T
36669410116, ©

Question Number : 44 Question Id : 3666943244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oyl Yeafdes e @1 oy 5 9 g1 aRafd® T3 &1 98 4T S 15 a9 8 &y €
S0, ¢ ¢:

Options :

o | -

36669410113.

oo -

36669410114.

e | 2

36669410115.

| =-a

36669410116.

Question Number : 45 Question Id : 3666943245 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The de Broglie wavelength of an electron having kinetic energy E is A . If the kinetic energy

of electron becomes % then its de-Broglie wavelength will be :

Options :

B3| o

36669410117.

36669410118.

36669410119.

36669410120.

Question Number : 45 Question Id : 3666943245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
E oSt G ATl gerag i o Sh-sielt e 4 31 AR SaeE @t i Sl f Ay
dl gua! S-siTedl adngy gnfh:

Options :

o | o

36669410117.

36669410118, 2%



ol

36669410119.

24
36669410120. 2/

Question Number : 46 Question Id : 3666943246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A single slit of width a is illuminated by a monochromatie light of wavelength 600 nm. The
value of ‘a’ for which first minimum appears at =30 on the screen will be :

Options :

06 um
36669410121. '

1.2 pym

36669410122.

1.8 gm
36669410123.

36669410124,

Question Number : 46 Question Id : 3666943246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

600 nm Tl ardl fhl Uhaaull UHT 9 2 9ISTS dTal fohdl udhd f3RT &1 werd faman
I €14 &1 98 AF o fau ugan A1 o-30 WU 86, 96 & -

Options :



06 um
36669410121. '

1.2 pym

36669410122.

1.8 gm
36669410123.

36669410124, ° 4™

Question Number : 47 Question Id : 3666943247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II of Electromagnetic waves with corresponding wavelength range :

List I List IT
(A) Microwave (Iy 400 nmto 1l nm
(B) Ultraviolet (II} 1 nmto 10~ nm
(C) X-Ray (IITy 1 mm to 700 nm
(D) Infra-red (IV) 0.1 mtol mm

i

Choose the correct answer from the options given below:
Options :

36669410125. (A)-(I), (B)-(IV), (C)-(IT), (D)-(I1T)

36669410126. (A)-(IV), (B)-(1I), (C)-(I), (D)-(I1I)

36669410127 (A)-(IV), (B)-(I), (C)-(IL), (D)-(111)



Question Number : 47 Question Id : 3666943247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | 7 8 T Reeaaia il o1 e e 13 € 7 9 wa el @ @i

ot | iUl
(A) YEHRT () 400 nmto 1 nm
(B) TR () 1nmto10” nm
(€) x-fopeui () 1 mm to 700 nm
(D) Adidd (V) 0.1 mto1mm
< f3u v fashedt & 9 Wel IR IH:
Options:

36669410125. (A)-(I). (B)-(IV), (C)-(IT), (D)-(I1I)

36669410126. (A)-(IV), (B)-(II), (C)-(I), (D)-(I1I)

36669410127 (A)-(IV), (B)-(D), (C)-(ID), (D)-(111)

Question Number : 48 Question Id : 3666943248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A 12 V battery connected to a coil of resistance 6 ) through a switch, drives a constant

current in the cireuit. The switch is opened in 1 ms, The emf induced across the coil is 20 V.
The inductance of the coil is :



Options :

36669410129, 5 mH

36669410130, °™H

36669410131, 10 mH

12 mH
36669410132.

Question Number : 48 Question Id : 3666943248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 12 V dcll 91 $1 6 Q WY dTell el A Ueb Folt & gRI Sirel Sl 8, fored ufvay
# Fad R yarfed Bt §1 1 ms THG # $uit &1 G fear ord1 g1 dsoit 7 ORd fagga
dIe® §a D1 HH 20 V &, dl el &1 IR ¢

Options :

36669410129, 5 mH

36669410130, °™H

36669410131, 0 mH

12 mH
36669410132.

Question Number : 49 Question Id : 3666943249 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For designing a voltmeter of range 50 V and an ammeter of range 10 mA using a

galvanometer which has a coil of resistance 54 {} showing a full scale deflection for 1 mA as
in figure.

(A)  for voltmeter R =50kQ

(B) for ammeterr = (.20)
(C)  for ammeterr= 602

(D) for voltmeter R=5k0)
(E)  for voltmeter R =500 2

Choose the correct answer from the options given below:
Options :

36669410133, W) and (©)

36669410134, ) and (B)

36669410135, (@) and (D)

36669410136, (O And (E)

Question Number : 49 Question Id : 3666943249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



vefRid i & SER YR B 0 3 fordl dgelt &1 ufaiy 54 QE 0 1 mA W
U} 19 &Y WERid 1 8, 50 v d HIY Jdh- dTall faHaHTdl Ud 10 mA dd HIY F64
qTe 3fieR &M & e

() fAyaamdt & o R = 50k0
® R FCr~ 020
€ fvaIfi & fu r=60Q
0) T & iU R~5k0
() fauaadi & few R<500 Q

i faw 7y faehedl 7 9 el IR T
Options :
36669410133. A Ta Q)

36669410134. AR

(C)Td (D)
36669410135.

(C) T (E)
36669410136.

Question Number : 50 Question Id : 3666943250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [ . The equivalent resistance of resistors in a series combination is smaller

than least resistance used in the combination.

Statement 11 :  The resistivity of the material is independent of temperature.

In the light of the above statements, choose the correct answer from the options given below :
Options :

36669410137, Both Statement I and Statement Il are true

36669410138, Both Statement I and Statement I1 are false

366694101 309. Statement 1 is true but Statement 11 iz false

Statement I is false but Statement I1 is true

36669410140.

Question Number : 50 Question Id : 3666943250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

= g HyE U T §:

®Y | : 40it B F Fiford wioRiel o1 ded wiaRiy, Saie § @i A wiady € et gl
gl

HYA Il : U B UfaRIedar agaHE R R Tg g1
Sula Syl & He 7, A fow v fawedt § @ Wit Iuged I g4

Options :

36669410137.



FYF | T HYF || S Hol &

36669410138, PU 1 T B 11 THT 10 €|

36669410139, U | Tl & U Y Il 7T &

PUA | TTeld & U~ PYA |
36669410140. ¢ ke

Physics Section B

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

Question Number : 51 Question Id : 3666943251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

366694181
4

Online
Mandatory
10

5

20

Yes

0

1
366694181
Yes

null



Correct Marks : 4 Wrong Marks : 1
The fundamental frequency of vibration of a string stretched between two rigid support is

50 Hz. The mass of the string is 18 g and its linear mass density is 20 g/m. The speed of the
transverse waves so produced in the string is ms!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666943251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
@ Tg YR & o b4 v Wi & 1 1 7 MR (Fundamental Frequency) 50 Hz &1
TEl BT UR 18 g T SHHI 341G G0 9 20 g/m B
WA SR T d A ms' &l
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943252 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There is an air bubble of radius 1.0 mm in a liquid of surface tension 0.075 Nm! and density
1000 kg m at a depth of 10 cm helow the free surface. The amount by which the pressure
inside the bubble is greater than the atmospheric pressure is Pa (g =10 ms2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943252 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.075 Nm™ 8 TF1d Td 1000 kg m™ T-cd dTd {6l 5d & 9ad dd ¥ 10 cm &1 TR
U& 1.0 mm 501 16l U@ qage ¢! o 0H € goqa & sie &1 6, diaraluid e §
WIE1 g, 98 7 Pag(g=10ms?I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943253 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A solid sphere and a solid cylinder of same mass and radius are rolling on a horizontal
surface without slipping. The ratio of their radius of gyrations respectively (ken @ ko) is

2:«..{;. The value of x is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943253 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA SoHF Ud BT dTdl, U 31 Tiiell Ud U o1 s, [t afow ad W o fra
e ¢ o1 3 Ui B BT &1 UM (kipn : key) 2:0x Sl x BIHA
gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943254 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A block of mass 10 kg is moving along x-axis under the action of force F' =5x N . The work
done by the foree in moving the block from x =2m to 4m will be J.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943254 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
10 kg GOTHM 1A U e W F=5x N a0 x 34 & Sy fbai=ad Bl x=2m 4m
TP RS H TN S R sgruifeammmed )3l
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943255 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

In the given figure the total charge stored in the comhination of capacitors is 100 4 C. The
value of ‘¥’ is

— V=10V —



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943255 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ferg o o & wenf & Waie W Sfed e offde 100 4 C 81w &1 HA
{

4= 2 pk

= x ke

Cy=3uF

— V=10V —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 56 Question Id : 3666943256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per given figure A, B and C are the first, second and third excited energy levels of

hydrogen atom respectively. If the ratio of the two wavelengths [f.f’. )—"‘J is 4; then the
n

\ ";I‘_'

value of n will be

F..J
b2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666943256 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



féu T FREFER 4, 5@&3@@@@@%@%%,%@@&@@3@%
%la‘lwﬁuﬁﬂﬂm[w _]Uﬁ E?l T@n@HAFAGM

u,).

:_‘-5_)
L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666943257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The refractive index of a transparent liquid filled in an equllatm al hollow prism is J2 . The
angle of minimum deviation for the liquid will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 57 Question Id : 3666943257 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T YHETE Wrad fres & |2 3uadie are o5 gReRl 5d HRT oM 81 %4 & g an
EEREEL o (s grm

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943258 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A 20 em long metallic rod is rotated with 210 rpm about an axis normal to the rod passing
through its one end. The other end of the rod is in contact with a circular metallic ring. A

constant and uniform magnetic field 0.2T parallel to the axis exists everywhere. The emf
developed between the centre and the ring is mV.

n}l.
Take 7= 23

Lr i
i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943258 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

20 cm T U Yif@d B, 210 rpm B &R 4 fadll 3fef & R U 8, A fF 5SS
Tad & Ud 39& U9 R ¥ TR W 81 98 &1 g0 R 1@ JaeR oifd® g &
Y 1 g | Bl 0.2T B UHHHH Ud R Frad 11 &7, 38 & FH-R 949 g0 §1 =
U\a{éﬁﬁﬁa mV {33gd I8F Fd I g

;- 22)
=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An election in a hydrogen atom revolves around its nucleus with a speed of 6.76 x 10% ms~! in

an orbit of radius 0.52 A’. The magnetic field produced at the nucleus of the hydrogen
atom is <

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943259 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

gI3SIor WA H, U FadeH AMHS & IR TR 0.52 A° BT drcll H&1 7 6.76 x 10° ms™!

P! 9 4 T g eESeF WAN & TG W Ided JEH &7 F1 0H
s — 5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666943260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A network of four resistances is connected to 9 V battery, as shown in figure. The magnitude
of voltage difference hetween the points A and B is V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 60 Question Id : 3666943260 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IR Uit & Aead | v @i ol AR I3l g5 &1 o5 A td B & o9 fauamR
VEl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A

SectionId : 366694182



Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 61 Question Id : 3666943261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following expressions is correct in case of a CsCl unit cell (edge length ‘a")?

Options :
Foa b, =d
36669410151,
iy 1 i
et T e
36669410152. V2
36669410153, 2
. _ a
ﬁﬁ'+1(l"§

36669410154.

5

Online
Mandatory
20

20

80

Yes

0

1
366694182
Yes

null



Question Number : 61 Question Id : 3666943261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & § B W1 WHBRT CsCl UHd HIFDBT (BR TaTg 'a') & oIC el &2

Options :
oo +Tor- =8
36669410151.
iy +I = s
o e G
36669410152. V2
Teet T o1 =§H
36669410153. : a
a
r,.+r, ==
Cs Cl 2
36669410154,

Question Number : 62 Question Id : 3666943262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement | . According to Bohr's model of hydrogen atom, the angular momentum of
an electron in a given stationary state is quantised.

Statement 11 :  The concept of electron in Bohr's orbit, violates the Heisenberg
uncertainty principle.

In the light of the above statements, choose the most appropriate answer from the options
given below:



Options :

36669410155, Both Statement I and Statement I1 are correct

Both Statement I and Statement Il are incorrect

36669410156.

Statement [ is correct but Statement I 1= incorrect

36669410157.

Statement I is incorrect but Statement 11 is correct

36669410158.

Question Number : 62 Question Id : 3666943262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR FFFEWE:

I ;. gESd AN & SR HiSH & FUR, fhdl wrd da1 7 Soae &1
HIUfig a7 SiciPpa g |

SN . IR B H e B Yoy, gIgoHe & AiFiddd Rigid &1 ureH @
FE |

Iuger ol & deH H, A fau mu fasedt F 9 waifve Suge Iw g+

Options :

36669410155, DU | Td BT 11 G HEl €|

36660410156, P | T B 1l GHI T €

36669410157, TU | TEl & UG HUT 11 TTeT B



YA | TTeld & U= PY I |
36669410158. ¢ e

Question Number : 63 Question Id : 3666943263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Congider the following statements:

(A) NF: molecule has a trigonal planar structure.
(B) Bond length of N2 is shorter than Os.
(C) lzoelectronic molecules or ions have identical bond order.

(D)  Dipole moment of H:S is higher than that of water molecule.

Choose the correct answer from the options given below:
Options :

36669410159, ) and (B) are correct

36669410160, B) and (C) are correct

36669410161, (C) and (D) are correct

{A) and (D)) are correct

36669410162.

Question Number : 63 Question Id : 3666943263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g Sy W faeR &3

(A)  NF: 30 &I Biapivitg Ty d3a- g

(B) N, @I &= TETg, O, B! a1 4 BIct g

(©) GHIAFRIH [ TT ] D1 ™ HIfe T FHF gl |
(D) AP HYDI ANH HoS 1 fgsa smayf ofdd grar g

A1 f3u U faeut #  Hel IR 4:
Options :

36669410159, (A) T (B) WE1 &
36669410160, B T (O T &

C)Wd (D
36669410161. CRICEHE

36669410162, A T O)TEE

Question Number : 64 Question Id : 3666943264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) is/are correct?

(A)  The pH of 1 x 10-* M HCI solution is &.
(B)  The conjugate base of H,PO; is HPO; .
(0 K. increases with increase in temperature.

(D)  When a solution of a weak monoprotic acid is titrated against a strong base at half

1
neutralization point, pH = = pK, .

Choose the correct answer from the options given below:
Options :

36669410163.



(A), (B), (O)

36669410164, ) (O D)

36669410165, ) (©)

36669410166, M ()

Question Number : 64 Question Id : 3666943264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o @ o w1/ FuA 961 8/

(A) 1 x108M HCl fdeaa &1 pH 8 B |

()  H,PO; %W &R HPO* B

(Q) KT HH AU giE & WY g1

(D) W UP god HFAMIRS 3 & [9e0- &1 UF Wad &R & 91 ST faar 3 g
< a1ef FeriHfeRR i W pH = LpK,

13 fo e et 39wl S
Options :

36669410163, V- - (©)

36669410164, (O D)

36669410165, B (©)



36669410166, - M)

Question Number : 65 Question Id : 3666943265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not an example of calcination?

Options :

Fe,O, - xH,0——Fe,0, +xH,0O
36669410167. ik > 23 2

CaCQ,—*—Ca0+CO,
36669410168. :

CaCQ, - MgCOQ, ——Ca0O+ MgO0+2CO,
36669410169. g

2PbS + 30, ——2Ph0 + 280,
36669410170. ) i

Question Number : 65 Question Id : 3666943265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{9 & & B9 FwuA &1 U IE0 L 87
Options :

Fe O, -xH,0——Fe, 0.+ xH O
36669410167. Gk * 23 2



CaCO,———Ca0+CO,

36669410168.
CaCQ, - MgCQ, ——Ca0O+ MgO+2CQ,
36669410169. "
2PbS + 30, —>—2Pb0+2S0,
36669410170. B |

Question Number : 66 Question Id : 3666943266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
During water-gas shift reaction

Options :

36669410171 carbon is oxidized to carbon monoxide.

carbon monoxide is oxidized to carbon dioxide.

36669410172.

36669410173 carbon dioxide is reduced to carbon monoxide.

water is evaporated in presence of catalyst.

36669410174.

Question Number : 66 Question Id : 3666943266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR g Hﬁl SEIER (water-gas shift reaction) & E.;IEH -



Options :

36669410171. BT 1 T AR Hab g el

36669410172, BT HITNSRITS 1 P11 SRS H siferfiervr g g

36669410173, T SIRUIRIRS BT P HAISHRITSS H ST gIell |

JaRE I U H Sd T A gl g
36669410174.

Question Number : 67 Question Id : 3666943267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One is labelled as Assertion A and the other iz labelled as
Reason R :

Assertion (A) :  BeCl: and MgCl: produce characteristic flame
Reason (R) : The excitation energy is high in BeCl: and MgCls

In the light of the above statements, choose the correct answer from the options given below :

Options:

36660410175, Both (4) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

36669410176.

36669410177, Y 1s true but (R) is false

(A) is false but (R) is true
36669410178.



Question Number : 67 Question Id : 3666943267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 3 HYA AU TN B, UF H1 3HFHYF (A) Td R 1 R (R) Hel T8

3{fY&HYA (A) : BeCl, Td MgCl, T SaTell I H3d g |
HRU(R):  BeCl, Ud MgCl ¥ IaaiHl §q I6ll &1 A 34U g

STed Sy & wHT H, i U U fadedl # 9 w8l W g4

Options :

36669410175, () T (R) T WET € TUT (A) P1 el 1L (R) ©

36669410176, (A T (R) Tl WET © T (A) P1 Wel SATEHT (R) Tel &

36669410177, A T8I 8 IR (R) TG &

36669410178, A T € T (R) Te ©

Question Number : 68 Question Id : 3666943268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a good quality cement, the ratio of silica to alumina is found to be
Options:

36669410179, 1P



36669410180, *

36669410181, P

36669410182, 2

Question Number : 68 Question Id : 3666943268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U 3fes! TUradl dral Hiie & fere, fferes1 ud uaiaen &1 Sdrd U 741 §:

Options :

36669410179.

36669410180. *

36669410181, 1P

36669410182. =

Question Number : 69 Question Id : 3666943269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of P — O — P bonds in H,P,O,, (HPO,), and P,0,, are respectively



Options :

36669410183, &4

36669410184, 36

36669410185.

36669410186.

Question Number : 69 Question Id : 3666943269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
H,P,0,, (HPO,), Td P,0,, # P — O - P &= & TSI B, HHI: -

Options:

36669410183, 31

36669410184, -3 0

36669410185.

36669410186.

Question Number : 70 Question Id : 3666943270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The complex with highest magnitude of crystal field splitting energy (4,) is

Options :

[Ti(OH,), ]*
36669410187. A

n DH, A+
36669410188. [C(OH, )]

[Mn(OH,),]™
36669410189, |

Fe(OH,).]*
36669410190. [Fe(OH, )]

Question Number : 70 Question Id : 3666943270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
siftraan forted &3 faures 36l (a,) arTer dod &
Options :

[Ti(OH,),]*

36669410187

n DH, A+
36669410188. [C(OH, )]

[Mn(OH,),]™
36669410189, '

Fe(OH., ). ]*
36669410190. [Fe(OH, )]



Question Number : 71 Question Id : 3666943271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The possibility of photochemical smog formation will be minimum at

Options :

36669410191, New-Delhi in August (Summer)

Srinagar, Jammu and Kashmir in January

36669410192.

36669410193. Mumbai in May

36669410194. Kolkata in Octoher

Question Number : 71 Question Id : 3666943271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UHTI IS HH-BIEY B AT DI UG GATH 81T —

Options :

36669410191. ST (A1) — % et A

36660410102, I~ AR, O] 3R HIHR A

36669410193.



- et

AR — Fadbl |
36669410194.

Question Number : 72 Question Id : 3666943272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
0O

H,0 .
Q) —s A
major product

O

‘A’ formed in the above reaction is

Options :
OH
OH
36669410195. O
OH
0
36669410196. e
OH OH
0

36669410197. 0



OH
OH

36669410198.

Question Number : 72 Question Id : 3666943272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0
H.,O
0O —————
major product
O
Iuge stffesar 7 fAffd A’ &
Options :
OH
OH
36669410195, O
OH
0
OH
36669410196.

36669410197.



OH oOH

O

O

0

OH
OH

36669410198.

Question Number : 73 Question Id : 3666943273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Decreasing order of reactivity towards electrophilic substitution for the following
compounds is :

© T @ @
(a) (b) (c) (d) (e)
Options:
36669410199, 2~ d>e>b>c
36669410200, ¢~ 47a=b=c
36669410201, 92~ €~ce>b

c>bh>a>d=>e

36669410202.



Question Number : 73 Question Id : 3666943273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
g AT & foe, Setaci— Sel WiaRiToA siffohgrafi & ufa, sifvfshareiieral &1 gl %9 &

CH, OCH, NMe,
© I
(a) (b) (c) (d) (e)
Options :
36669410199, 2~ d>e>b>c

e>d=a>b>c

36669410200.

d>aze>c>h

36669410201.

c>h>a>d>e

36669410202.

Question Number : 74 Question Id : 3666943274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The major product formed in the Friedel-Craft acvlation of chlorobenzene is
Options :

36669410203.



Cl

CH,
0
Cl1
o 1TH,
36669410204. '
'l
CH,
0
0~ CH,
36669410205.
('l
COCI,
COCH,
36669410206. "

Question Number : 74 Question Id : 3666943274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FIRIawol & Wied-shIued THIAYH (acylation) H 130 IS

Options :

36669410203.



Cl

CH,
0
Cl1
o 1TH,
36669410204. '
(]
CH,
0
0~ CH,
36669410205.
('l
COCH,
COCH,,
36669410206. "

Question Number : 75 Question Id : 3666943275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



CH. COOH
Br

W
W

NO, Cl

In the above conversion the correct sequence of reagents to be added is
Options :
36669410207. (1) EI"E‘;FE, (ii:l FEfH+, {iii} KMnO,, (i".’} Cl:

36669410208. (1) KMnOy, (ii) Bro/Fe, (iii) Fe/H, (iv) Cl=

(i) Bro/Fe, (ii) Fe/H*, (iii) HONO, (iv) CuCl, (v) KMnO4
36669410200.

(i) Fe/H*, (ii) HONO, (iii) CuCl, (iv) KMnO, (v) Brz
36669410210.

Question Number : 75 Question Id : 3666943275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CO0O

CH, M
Ié; ©/”r
NO, Cl

Juder aRad= # Iua {6 7Y e &1 Hel &

Options :



36669410207 1 Bro/Fe, (i) Fe/H*, (iii) KMnO, (iv) Cl;

36669410208. (1) KMnO,, (ii) Bro/Fe, (ii1) Fe/H*, (iv) Cl=

(i) Bro/Fe, (ii) Fe/H*, (iii) HONO, (iv) CuCl, (v) KMnO1
36669410209.

(i) Fe/H*, (ii) HONO, (iii) CuCl, (iv) KMnOs, (v) Brz
36669410210.

Question Number : 76 Question Id : 3666943276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The product formed in the following multistep reaction is :

i) B:He
ii) H:02, NaOH
v) CH:;I"L’IgEr
Options :
!‘i]H
lIEI—I:{ _'li-: —EHH
36669410211. CH,
PH
36669410212, CHs—CH. -CH-CH,
0
|
CH,-CH, -C-0CH,
36669410213.

36669410214.



CH, -CH, -CH, -CH, -OH

Question Number : 76 Question Id : 3666943276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g agavvlt sifwferar & fAfta Iare & -
i) B:Hg
li] H:0:, NHDHh

CH, -CH=CH, iii) PCC i
iv) CH:MgBr

Options :
PH
CH, -C—CH,
|
36669410211, CH,
oH
36669410212, 1~ CH: ~CH-CH,
0
n
CH, - CH, - C—OCH,
36669410213,
CH, —CH, —CH, —CH, - OH
36669410214,

Question Number : 77 Question Id : 3666943277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following sequence of reactions:

NaNO, 4. N, N-Dimethylaniline .
-5

NH,

The product ‘B’ is

Options :

N—N NH,

| |
CH, CH,
36669410215.

CH,
L CH,
H H

36669410216

CH
. EETIET R i )
Qﬁh - 4<;>7h “CH,

36669410217

36669410218.

Question Number : 77 Question Id : 3666943277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fftfehanadi & 9 1 W R i

NaNO, N, N-Dimethylaniline

—= 3 4 >
0-5°C

NH,

IdIE ‘B’ 8
Options :

N—N NH,

| |
CH, CH,
36669410215.

CH,
(. CH.,
H H

36669410216

CH
. EETIET R i )
Qﬁh - 4<;>7h “CH,

36669410217

36669410218.

Question Number : 78 Question Id : 3666943278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II:

List I - (Monomer) List II - (Polymer)
(A) Tetrafluoroethene (I) Orlon
(B) Acrylonitrile (I WNatural rubber
(C) Caprolactam (IIT} Teflon
()  Isoprene (IV) Nylon-6

Choose the correct answer from the options given below :

Options :

36669410219. (A)-(I11), (B)-(I). (C)-(IV), (D)-(1I)

36669410220, A-IID, B)-(V), (C)-(ID), D)-(D

36669410221. (A)-(11), (B)-(I1T), (C)-(IV), (D)-(I)

Question Number : 78 Question Id : 3666943278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl | F1 o= gt 1 6

1 - (TPa) 1l - (F5ED)
(A) CETURGSRITYH ) HREH
(8) UfpaERw (VIIEIRERCH
(C) FUCIdeH () THEAE
(D) SMZEH (Iv) gd-6

Options:

36669410219. (A)-(I11), (B)-(I). (C)-(IV), (D)-(1I)



36669410220. [f"&}'EIII]- (E}'EIV]- {{1-}'{111-. {D}'{I]

36669410222. (A)-(IV). (B)-(I). (C)-(1I), (D)-(I1T)

Question Number : 79 Question Id : 3666943279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which is not true for arginine?

Options :

36669410223. It is a crystalline solid.

It has high solubility in benzene.

36669410224,

36669410225. It has a fairly high melting point.

[t is associated with more than one pK., values.

36669410226.

Question Number : 79 Question Id : 3666943279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3{fei & fere &1 uel 1e] 6



Options :

36669410223, I8 0P fpeedia 14 &1

36669410224, Sl H gu! faead 3= ¢

36669410225. 5 Skl

& U U & 3 pk, AF &
36669410226,

Question Number : 80 Question Id : 3666943280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is correct for paper chromatography?
Options:

Paper sheet forms the stationary phase.

36669410227.

\F 1 n N o 3 -
36669410228. Water present in the pores of the paper forms the stationary phase.

36669410229. Paper and water present in its pores together form the stationary phase.

Water present in the mobile phase gets absorbed by the paper which then forms the
stationary phase.

36669410230.

Question Number : 80 Question Id : 3666943280 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
R B! (BT quierad) & e # g & 9 &1F W $ud 9d 82
Options :

R YT R uraw &1 & &dl gl
36669410227.

36669410228, IR & gl § Iuftya oia R urawyt &1 & &l 8|

UUR Ud 39 foail § IUld oid R Uraw1 &1 &1 H3d1 g
36669410229.

wfcrlicr et # JuRYG Sd BT AW GRT SaRifid fabar S &, S ore fRR v
36669410230, 1 1 XA B

Chemistry Section B

SectionId: 366694183
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Section type: Online
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Number of Questions : 10
Number of Questions to be attempted : 5
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Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
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Question Number : 81 Question Id : 3666943281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The volume (in mL) of 0.1 M AgNO: required for complete precipitation of chloride ions
present in 20 mL of 0.01 M solution of [Cr{H,0).CI|C1, as silver chloride is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Cx(H,0).Clcl, & 0.01 M T8 & 20 mL T H IURYT FRZS O & RieR
FARIZS & &Y H qof a8 g 0.1 M AgNO; 1 HaF HMGaA (mL ) &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 82 Question Id : 3666943282 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
30.4 kJ of heat is required to melt one mole of sodium chloride and the entropy change at the

melting point is 284 J K mol?! at 1 atm. The melting point of sodium chloride is
K (Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943282 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0% Hid QIieaW FaR1ss ® fUudH &g 30.4 k) S @1 SfTaZaebdl gl & a4l 1 atm &6 W
ToHie W TR oiad 284 ) K mol! g1 WiZgW FRES &1 TeHd §
— K (Adean gufe @)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943283 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The vapour pressure of 30% (w/v) aqueous solution of glucose is ———————— mm Hg at
25°C.

[Given : The density of 30% (wiv), aqueous solution of glucose is 1.2 g em™ and vapour
pressure of pure water is 24 mm Hg |

(Molar mass of glucose is 180 g maol-')
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943283 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
25°C R T & STl [T 30% (w/v) BT aT% &1 §: —— mm Hg

(301 71 § : @I & ey fAedH 30% (w/v) 199 1.2 g em 41 I ol BT a1 gld
24 mm Hg%]

(P HT HITR 5HH 180 g mol”' §)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943284 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The number of correct statements from the following is

(A)  Conductivity always decreases with decrease in concentration for both strong and
weak electrolytes.

(B) The number of ions per unit volume that carry current in a solution increases on
dilution.

(C)  Molar conductivity increases with decrease in concentration.
(D)  The variation in molar conductivity is different for strong and weak electrolytes.

(E) For weak electrolytes, the change in molar conductivity with dilution iz due to
decrease in degree of dissociation.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943284 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
g O el Syl 1 dem
(&) Wed Ud g9 faeyd srawedl S & g Al # 9t § aeiehd] § Wi B! STl
gl

(B) Ol Sg & WY, fawg ¥ faggd YR1 dg A dTdl MEHl @l We vl g@rs
3T, Fgdl 8|

(©) sl H HH & WY HieR Il | gis gl o
(D) Ved Ud gad faggd sruue @ oy Hier dreedl & uivad fis-e giar g |
(F) gdd faggd Sugedi & o, a1 & 91y Wier Jiaddl d uRddd 39 fadieq &
39 ¥ el & BRIl 81
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943285 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For a reversible reaction A == B, the AH;_, .4 reaction = 20 kJ mol ™. The activation energy

of the uneatalysed forward reaction is 300 kJ mol!. When the reaction is catalysed keeping
the reactant concentration same, the rate of the catalysed forward reaction at 27°C is found
to be same as that of the uncatalysed reaction at 327°C. The activation energy of the
catalysed backward reaction is ——— kJ mol-%.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943285 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IEHUIG HUFT A <=BF T AH, ;0 =20 kJ mol™ B ST SRS & o
Sifirferan & fere wfchar 31 300 k) mol ™" §1 SHTHGRD] B H-sdll HH T4 gU og
HiHfeha BT IR & WY Fruferd a1 S 8, ol 27°C W IR 311 sifHfebar 1 R
327°C W fo1 I3RS & sifferar & Tur gt &t 31 I uy i ot wfsgu 3t
%:—k_l mol™.
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943286 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 mL of 0.5 M NaCl is required to coagulate 200 mL of As,S; solution in 2 hours. The
coagulating value of NaCl is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943286 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As,S, & 200 mL fdeTH &1 2 9 7 Thidd A & W 0.5 M NaCl & 20 mL &I TGl
USdl 81 NaCl &1 ®he HH &: :

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 87 Question Id : 3666943287 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
The total number of isoelectronic species from the given set is
0> ,F, Al, Mg** Na*,0", Mg, AT**,F
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943287 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fgu e e ¥ wugdaeie Wielid #1 $a e ¢;

O ,F, Al, Mg** ,Na*,0", Mg, Al**,F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943288 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The total change in the oxidation state of manganese involved in the reaction of KMn(O; and
potassium iodide in the acidic medium is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943288 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T WA § KMnO, U9 TIeTITH aimiieTss &t sifvfdsa  fs o sifeiieru saw
 gafl $d URacH &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943289 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The homoleptic and octahedral complex of Co®* and H,0 has ——— unpaired
electron(s) in the £y, set of orbitals.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943289 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Co* Td H,0 & Ty Afifd IS Td spwasy Gpd H Hae & «, I H JuiRd
ST FeIaeH @

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666943290 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Chromyl chloride, the oxidation state of chromium is (+)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 90 Question Id : 3666943290 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I FARIZS | BIFAH BT ST AT E: (+)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



